[ N of simulated tracks vs dxy(PV) ] N of associated tracks (simToReco) vs dxy(PV) |

(%] n
2 o
2 =
=4 o
s 2
(5}
g £ 10°
x [%2]
Q c
S [=]
= 3
@
§=] 8 v
3 s
14 o
5 10 15 20 0990 520
P dxy(PV) (cm) TP dxy(PV) (cm)
—_— é N: orlg na\ 10 Oev&
—e— DQMfitted
—_— g m m gpg-gﬁ é%)RTRZZ 1000evt
[N of sin] == BoM-iit-cheOK—SORTRZ2TESTOUTLIER3_1000evt
12} |2
Q o
S =
<] °
S £
g 210
x [%]
Q c
E o
= 3
o
10!
14 1 3 |
) _ H l z‘- 1
g g
0% 8-0.6 -0.4 -0.2 02 04 06 08 02 8-0.6 -0.4 0.2 0.2 06 0.8
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
8 : q
ke ¥ F
=4 N -
8 10t e s P . 2
g 210
< 1%}
Q c
g g
S
10 &
iel
©
04
0.95 0.95 : . . : =
=30 -20 -10 10 20 30 =30 -20 -10 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) |
(%] n
o o oo
2 =
5 5
g g
x 1%}
Q c
E [=]
= 3
@

Ratio

0.5 1 0.5 1
TP dz(PV) (cm) TP dz(PV) (cm)



	Contents
	Page 1


